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1. Write your Roll No. on the top immediately on recéipt of this question paper.

Attempt all questions.

Use
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2
3. All questions carry equal marks.
4
5

Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.

1. (a)

()

“While evaluating single project with conventional cash flows, both NPV and
IRR methods give identical results.” Elucidate the statement. (5)

A particular project has a four year life with yearly projected net profit of
Rs. 10,000 after charging yearly depreciation of Rs. 8,000 in order to write
off the capital cost of Rs. 32,000. Out of the capital cost Rs. 20,000 is
payable immediately (year 0) and balance in next year (which will be needed
for evaluation). Stock amounting to Rs. 6,000 (to be invested in year 0)
will be required throughout the project and for debtors a further sum
of Rs. 8,000 will have to be invested in year 1. The working capital
will be Recouped in year 5. It is expected that the machinery will fetch a
residual value of Rs. 2,000 at the end of 4™ year. Income tax is payable
@ 40% and the Depreciation is charged on writing down value of 25% per
annum.

Income tax is paid after 9 months after the end of the year when profit
is made. The residual value of Rs. 2,000 will also bear tax @ 40%.
Although the profit is for 4 years, for computation of tax and realization of
working capital, the computation will be required up to 5 years.

Taking discounting factor @ 10%. Calculate NPV of the project and give
your comments regarding its acceptability.

Year 1 2 3 4 5

NPV @ 10% factor | 0.9091 0.8264 | 0.7513 | 0.6830 0.6209

(10)
PTO.
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(b)
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OR
How the financial decision making involve risk-return trade off ? (5)

A company has to make a choice between two identical machines A
and B which have been designed differently but do exactly the same job.

Machine A cost Rs. 7,50,000 and will last for. 3 years. It will cost
Rs. 2,00,000 per year to run. Machine B is an economy model costing only
Rs. 5,00,000. But will last only 2 years. Its running charges are Rs. 3,00,000
per year. :

The cash flows of machine A and B are real cash flows. The costs
are forecasted in Rupees of constant purchasing power. Ignore taxes.
If the opportunity cost of capital is 9%, which machine the company should
buy ?

The present value factor at 9% are :

[year 0.9174, Il year 0.8417, Ill year 0.7722 (10)

Tohel IRANET T IRARE AHE ATl & A AAET W W, S TS -
NPV 3R IRR 499 GROM Yo &d & | S8 U ol Rl iy ¢

ve fafire aRareAT @1 Siaew wR 9§ 2 fome aiffe wefta 3@ @ 10,000
BT W {3 At Feasm@ T 8,000 et T @ SIS BN Alich Jord @R < 32,000
Frafoad ) 1 ¥ | Tolv o ¥ A 20,000 e R e 2 (I 0) R
I I A (S o o & forg savaeE Bn) =i % 6,000 (e fafvam
g 0 ¥ B #) 0 aRaren ety & fow wfdem sk IR @ fow 8,000 wem
¥ & & fafan s 8 wded oot 5 98 & s@fs § ™ (Recoup) HE
B TE S Wt ® fR W A ad § @A e 32,000 R faea
A -F 40% R 2 B 3R TG8™ 25% e & R ¥ ARA g0 Feq | =t foma
T 2 | 3T 99 sl FIfST & ae 9 AR ITd 37 ® WEih ST A W |
FEAT T4 T 2,000 R 40% ¥ FX 27 7 | TA o0 4 aW > g B, I F W0
3R T T B ARSI, T B forg 5 af A sTaEhar BN

T W A 10% R od gY IR it NPV it 70 Hiferg oo gaatt S
R e ot o T

qq 1 2 3 4 5

NPV @ 10% factor| 0.9091 0.8264 | 0.7513 | 0.6830 0.6209

(1)

Jraar

o Foter % fore wroRR SiRawt - widwet fafeema wemr (Trade-off) aRsform g
R
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(@) v TR A T TR A SR B, R Ree @ S s A g E mg
B T @ ol 2, A 99T el ®
FHT A ANE X7,50,000 B IR AE 3 A I oM | TRl a@E A
owrE ¥ 2,00,000 T BRit | w9 B U fiaerdl wige @ ot anm T5,00,000
AT B WG AT QA WA G TN | FER g @ AW T 3,00,000 arfem
ol
HIT A 3R 99 B & -The YaT8 dRAaE Aehe WalE @ | Jrre @t wiqsant ga9q
Fg ARE D TR H A W B H @A DR T AR GO A &AW AN
(opportunity cost) 9% 2, T TN H FHA FHAA @A A2Y 7

9% W FAAT FHIT FRE &
[a8 0.9174, a9 0.8417, HIa¥ 0.7722

(i) What are implicit costs and how are they relevant in calculating weighted
average cost of capital ? 5)

(i) ABC Ltd. has the following Capital structure :

Equity share capital Rs. 40,00,000.00
(4 00,000 shares of Rs. 10 each)

12% Preference shares Rs. 4,00,000.00
10% Debentures Rs. 6,00,000.00

The equity shares of the company are quoted at Rs. 110 and the company
is expected to declare a dividend of Rs. 15 per share. Rate of growth of
dividend is 8% which is expected to be maintained assuming tax rate

@ 40%.
(a) Calculate WACC. (5)

(b) The Company wants to raise additional term loan of Rs. 5,00,000 at
10%. Calculate the revised WACC assuming the market price of equity

share has gone down to Rs. 105. 5)
OR
(i) Comment upon the utility of net income approach of Capital Structure in real
world. (&)
(i) The following are details of Bankers Ltd. for the year ending 31.03.2013.
Operating Leverage 3:1
Financial Leverage 2:1
Interest charges per annum Rs. 20 Lakhs
Corporate Tax Rate 50%
Variable Cost as percentage of sales 60%
Prepare Income Statement of the Company. (10)

PTO.
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(i) wife e @ ¥ ok T @ sRa sted AT @ TR ¥ e i 2 7
(i) Tt fro w1 ot are Fremmdm 2
HECd I Tl % 40,00,000
(4,00,000 3= T 10 9f¥)
12% 3ifeme 3t T 4,00,000
10% o= % 6,00,000

FI B SIS T H TSIk W T 110 @ W w0 A Jmn € fhaw T 15 vl
T AT F/M | aiw AW qgfe R 8% 2 R T war v @8 w58 %
T EH W 40% B

(3) WACC =t wioFT il |

(&) =¥ T 5,00,000 = AR A@Efer =01 10% W I AqE 7 1 IS A
W & w3 sREd sl 9 e 2105 WA wen w8 2, wmie
- WACC aX o hifom |

Jterdr
(i) arafee @@r A Uont e @ A€ I UEd dt Iwifir w o fafed
(i) 31.03.2013 = S foro o1 ORI 9 TR B

URINE el (Leverage) 3:1
focia AR 2:1
e e wfged 320 o/
Rl R w® 50%
Rac-m arE fosRt & wfoea w7 A 60%

T T I fa s e

3. (i) Discuss the different approaches of financing of working capital
requirements. %

(i) A company has an EBIT of Rs. 3,00,000 and overall cost of Capital 12.5%.
The Company has debt, of Rs. 5,00,000 borrowed @ 8%. Find the value
of the company using NOI approach.

OR

Show using NOI approach, how change in debt by Rs. 3,00,000 have impact
on the cost of equity of the company. (10)
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OR

“Trading on equity is resorted to with a view decrease earnings per equity
share”. Comment. (5)

ABC Ltd. has outstanding 1,20,000 shares selling at Rs. 20 per share. The
company hopes to make a net income of Rs. 3,50,000 during the year ended
31% March, 2014. The company is considering to pay a dividend of Rs. 2
per share at the end of the current year. The capitalization rate for risk class
of this company has been estimated to be 15%.

Assuming no taxes, answer the questions listed below on the basis of the
Modigliani — Miller Dividend Valuation Model :

(1) What will be the price of the share at the end of 31% March, 2014;
if.
(a) The dividend is paid.
(b) The dividend is not paid. (5)

(i) How many new shares must be issued by the company if the dividend
1s paid and company needs Rs. 7,40,000 for an approved investment
expenditure during the year ? (5)

T goit & i sragasdrst &t 9u e & S fgmal (Approaches)
it AR HIT |

T FFE @ EBIT % 3,00,000 91 99Tt @t @906 AT 12.5% & | &9t = 8%
W W T 5,00,000 1 T2 F @[ 2 | NOI@WWW@WH&W
@ AOET HIT |

sr&adr

= H ¥ 3,00,000 1 9Rac, NOI 959 &1 IJudNT ad §¢ Jaigd o oot @
3t TR W 1 NG G |

Adl

“ZfFEEA W AMR AR FERT S & difch Uid sfaad) 3@ ware ol S
A W geh |7 feoqe ST

ABC R0 & R 1,20,000 331 sehmar & foment T 20 ufY siw & ffaw 3 =t 214
Ol A 2 adae ad @ s R 22 Wi ST o annw i

R @ SIREH S Goler @ W A A 15% W faRar w2

FE 9 oF 78w AFA §Y, MARARt ek aie Fedid At & R R
Friferd vl & IR AT

PTO.
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(i) 31 9, 2014 & 3@ W FW & FAF R B AR
(31) < w sEEE fRar e @
(F) TE F EEE e e s @

(i) afe s @ e R S @ S e e T S staw W R
WA Y R a¥ & TR FFE w SAled a3 e T 7,40,000
F JETEE SR # |

4. (i) Discuss the consequences of lengthening and shortening of credit period by
a firm. (%)

(i) XYZ Ltd. supplied the following information :

Sales and Production for the year 69,000 units

Finished goods in store 3 months

Raw material in store 2 months consumption
Production process 1 month

Credit allowed by creditors 2 months

Selling price per unit Rs. 50.00

Raw material 50% of Selling Price
Direct Wages 10% of Selling Price
Over heads 20% of Selling Price

20% sales are on cash basis and credit sales allowed to its customers
for one month. Overhead include Rs. 5 as depreciation. There is
regular production and Sale cycle and wages and overheads accrue
evenly. Wages are paid in the next month of accrual and overheads are paid
15 days in arrears. Material is introduced in the beginning of production
cycle. You are required to find out its working capital requirement on

cash-cost basis. (10)
OR
(1) What is EBIT-EPS Analysis ? How is it different from Leverage
analysis ?

(1) XYZ has a present annual sales turnover of Rs. 40 Lacs. The unit sales
price is Rs. 20.00. The variable cost are Rs. 12/- per annum and fixed
costs amount to Rs. 5 Lacs per annum. The present credit period of
one month is proposed to be extended to either two or three months
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whichever will be more profitable. The following additional information
available :

Credit Period 1 Month 2 Month 3 Month
Increase in sales by --- 10% 30%
Percentage of bad debts to Sales 1 2 5

Fixed cost will increase by Rs. 75000/- when sales will increase by 30%.
The company requires a pre tax return on investment at 20%.

Evaluate the profitability of the proposals and recommend best credit period
for the company.

(i) Wﬁ%mmﬁmﬁraﬁa&%mﬂaﬁ%qﬁmﬁaﬁﬁﬁﬁ{m
(i) XYZ 1o FeafiRan o wem e 2

¥ & fom facht T ST 69,000 TS
WER ¥ JAR A 3

IR A el WA 2 E & I
JreT vk 1 @E

AR R JUR d Il 2 WE

wfd gets fasha w1 Z50

Hodl AT fasa 3= =1 50%
LRI EE faera T &1 10%
IuRem fasra =@ =1 20%

20% T e AUR W 2 T ITHHS &l SUR 6 G g a8 8 | JuRam
A 75 Houe@ B A Wi 2 1 Iewe iR R aefera Fafia @ T wegd ik
JuRega IufE (Accrued) 3R @9&T 8 | A9EU & 9 JARG BN & I WE A
oA i ¥ 9w IuRerd o1 94 15 fo sanman foar wian @ 1| el R e argihe
& AR A B g R W ? 1 SR e B e - NI SR W R goit
& gl Tl TOET B |

rerar
(i) EBIT-EPS fageiwvi o=y 2 ? 98 Ixieis (Leverage) fsomm @ fre yam 12 7
(i) XYZ & ada= foht T 40 o ? 1 fapa &1 3ot€ wiew 220 2 1 aRad i ane

P.T.O.
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7 12 e 2 3 T a2 T 3 5 O it 2 | 999 U A1 S SUR
Jaf &l QA1 A HIE S o wEd 2 S o 3R sifdres ey B | ReefoiRaa

FRer go= Iuere 2 -

JUR F @ty 1 ¥ T AT 3 ¥E
fosht § s — 10% 30%
A R w1 9w A % 1 2 3

R o T 75,000 € WAt wiefs S 30% 9@ SREN 1 SR @ S
fafaar ® aR-1 20% afiwd =iy 1

5. Write short notes on :
(1) Motives for holding cash.
(i) Factors affecting dividend policy of a firm.
(ii)) Stock out (5 marks each)
OR

(a) Corporate governance is a system which ensures that companies are managed
in the best interest of all the stockholders. Discuss.

2%

(b) “Cash flows of different periods in absolute terms are incomparable.
Explain. (7.5 marks each)

g feoafirr ol
(i) e avu & & W
(i) v W @ o i & ifad e A FRE
(i) =T 33T (Stock out)
o

(3r) fria sfEmET (Governance) U a8 OF & W R IMAl & Y Y A WieneiRal
@& gt Bd § T 1 EaET I 2 | AR S |

(¥) ‘e v A fifay saftel & Awe ya® sigera € 179U Sife |

(7000)
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